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A test for a statistics competition has 20 multiple-choice questions. Each
question has 5 possible answers. A contestant decides to answer all the
questions at random. What is the probability that the contestant answers
exactly 5 questions correctly?

1.

0,175A.

B.

C.

D.

Six friends agree to meet at the “Acropolis Hotel” in Athens. However,
there are 4 hotels with the same name. Therefore, each of the 6 friends
chooses to stay at one of them randomly. What is the probability that two
of them choose different hotels and the other four are paired in the other
two hotels?

2.

0,527A.

0,022B.

0,088C.

0,070D.

A question is asked consecutively and in random order to n persons
(n≥7). Suppose that exactly 3 of the n persons know the answer. What is
the probability that the first four respondents do not know the answer?

3.

A.

B.

1 / 5



C.

D.

4.

The firstA.

The secondB.

The thirdC.

The fourthD.

A survey is to be conducted on the impact of recent refugee flows on the
local community. It is known that the percentage of people who respond
to a survey is κ %. If λ % of the completed questionnaires are rejected
due to incorrect completion, what should the initial sample be, as a
function of κ and λ,  so that the final number of correctly completed
questionnaires is 1500?

5.

A.

B.

2 / 5



C.

D.

An electronic plotter marks at random red and blue points on a
rectangular coordinate system within the square with vertices A(-4,4),
B(4,4), C(4,-4) and D(- 4,-4). The probability that the electronic plotter
marks a blue point is twice that of a red one. The probability of marking a
point within a region of the rectangle ABCD is the same as the probability
of marking a point in any other region within a rectangle of equal area.
Also, the colour of a point is independent of its position. What is the
probability that the next two points marked by the electronic plotter will
be in the order blue and red, and both will lie within the quadrilateral
EFGH, with vertices E(1,3), F(3,3), G( 4,-1) and H(1,-1)?

6.

0,156A.

0,005B.

0,035C.

0,087D.

7.

A.

B.

3 / 5



C.

D.

8.

9A.

6B.

8C.

7D.

The ratio of the number of ships arriving at a port from EU member
countries to the number of ships arriving at the same port from non-EU
member countries is 2 to 3. The percentage of ships arriving at the port
without delay is 36% . The percentage of ships arriving at the port from
non-EU member countries with delay is 60%. A ship is taken randomly
from those arriving at the port with delay. What is the probability that
this ship comes from an EU member country is:

9.

A.

B.

C.

D.

10.

4 / 5



28A.

27B.

26C.

29D.
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George and Mary are playing a game of backgammon. Towards the end of
the game, Mary notices that she needs a dice roll with a sum of outcomes
more than 7 to win the game. Otherwise, George will win the game. The
probability that Maria wins the game is:

1.

0,42A.

0,58B.

0,25C.

0,5D.

2.

0,29A.

0,86B.

0,67C.

0,38D.

A box contains 5 blue balls, numbered from 1 to 5, and 4 yellow balls,
numbered from 1 to 4. We take at random 2 balls from the box
simultaneously. The probability that both balls are odd-numbered is:

3.

A.

B.

1 / 5



C.

D.

4.

13,41%A.

5,73%B.

1,1%C.

2,4%D.

5.

2 / 5



5,5%A.

82676B.

22966C.

82676,4D.

In a yard, there are 64 white, black and grey rabbits. Blacks are twice as
many as whites. The average age of all rabbits is 1,2 years. The average
age of white rabbits is 1,1 years. The average age of black rabbits is 0,9
years, and that of grey rabbits is 1,5 years. The population of grey
rabbits is:

6.

24A.

28B.

12C.

27D.

A survey on the effects on Cypriots from the continuous flow of
immigrants to the island is to be carried out using a self-response
questionnaire. Recent surveys show that the percentage of those who are
not willing to participate in any survey is 30%. Also, 15% of the
completed questionnaires are rejected as not being filled in correctly.
What should the initial sample be for this survey so that the final number

7.

3 / 5



of correctly completed questionnaires is 1500?

14286A.

33333B.

5882C.

2521D.

8.

0,608A.

0,262B.

0,820C.

0,204D.

Two numbers are chosen simultaneously, at random, from the set A={1,
2, 3, 4, 5}. What is the probability that the product of these numbers
increased by 1 is divisible by 3 and not by 2?

9.

A.

B.

4 / 5



C.

D.

10.

8A.

9 or 11B.

10C.

10 or 12D.

5 / 5


